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Question 1: Compulsory (30 marks)

43
i),

).

d,

I},

With examples distinguish between sequence and series (4mks)

Solve for 2 if Qe + 1) - VZ = VT2 - 3} {2mks)

Given that the set 4 = {0, 1,2}, the set B = {1,2.4} and the universal
sat 4/ = {0,1,2,3,4,5,6,7)

al.Uvaw venn disgram for the information

b].List the members of the set

ij{zle € A or a2 € B}

lij{z]zr € A and z € B} (4miks)

Simplify the following
. mp ';{é}q ® y&“q
D e x

{1+ )% — F2(1 + )~
' (1+2)

{Zunkes)

it} {3mks}

. Given y = log, b show that y = " hence,

log, a
solve log, ¢ +log, 2 =2 (Gmks)

The st of the second and the third terms of 2 G.F. is ¢ ane the sevanth
term 18 elght thnes the fourth. Find the first term, the common vatio
and the fifth e of the G.P. {dmks}

. Expand (14 2)% in asconding powers of = up to the term sontaiuing

2+, Heuce svaduate +/1.03 to 5 significant fignres (Grmiks}



Question 2 (20mbks})

a).

b).

i).Distinguish between permutations snd combinations {dmbks}
ii).How many different arrangements of the word PARRAMATTA are
possible? {3mks)

ifi}. A committee of 5 people is to be chosen from a group of 6 men
and 4 women. How many committees are possible if there are to be 3
men and 2 women? (3mks)

1). State the Binomial theorem {2mks)
i).Expand (3 + )72 in ascending powers of z as far as the term in 3
and stase the range of values for which the expansion is valid. (5mks)

jii).Find the constant term in the expansion of (35 — ~2—£}“ {3mks)

Question 3 (20mks)

al.

b}.

2n+1

The general term of a series is given by a,, = — show that the terms
of the series form a Geometric Progression and find the sum of the first
9 terms (6mks)

A child lives 200 metres from school. He walks 60 metres in the first
minute, and in each subsequent minute he walks 76% of the distance
he walked in the previous minute. Show that he takes between 6 and
7 minutes to get to school {6mmles)

- The first, twelfth and last term of an arithmetic progression ave 4, 314

and 3723 respectively. Determine

a}. the number of tenns in the series

b). the sum of all the terms

(¢) the 80th term. (8mks)
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Question 4 (20mks)

a}).

3tanf — tan® 4
1 —3tan®d

i).Show that tan 36 =

(5mks)

ii). Selve for 4 in the interval 0° < 8 < 180° given 4sin 20+Bcog2f =3

(5mks)

b) .i). What is a complex number?
ii). Write the complex number z = 1+ i in Buler form hence find In 2

(5mks)
iii).State the de Moivres theorem

Question § (20mks)

a}. Define

c).

i). Unit matrix
ii). Inverse of a matrix

1 1 1

 Given the mattix A=12 -3 4 | Find

3 —2 -2
i). the adjoint of A
ii). the determinant of A
iii). the inverse of A

Use the result in (b) to solve the system of linear equations
s+ y+z=4

20— 3y + 4z =33

3x—-2y—2z=12

(2mks)

{3mks)

(Zmaks)

(Bmks)
(4mks)
{3mks)

(8mks)



